ASCENSION PARISH	PLANT ENTERPRISES PRODUCTION
ABCENSION TANGEN	I DAM EMILENI NISES I NODUCTION

Crop FORESTRY Pulpwood Pine Hardwood Pulpwood (Total)	Producers	Acres	Acre		Production	Measure	Value
Pulpwood Pine Hardwood Pulpwood (Total)							
Pine Hardwood Pulpwood (Total)							
Hardwood Pulpwood (Total)							
Pulpwood (Total)					1,415	cords	
• •					5,922	cords	
G1 : 0 G (T : 1)					7,337		
Chip & Saw (Total)					43	cords	
Saw Timber							
Pine					180,249	board feet	
Hardwood					855,874	board feet	
Saw Timber (Total)					1,036,123		
Total Pulpwood, Chip & Saw,							\$963,594
Saw Timber FOB Mill							
Total Forestry Stumpage							\$473,557
(Total)							
Forestry (Total)							\$963,594
FRUITS							
Peaches (Total)	*	5.0	350.00		1,750	bu.	\$70,000
Strawberries (Total)	8	10.0	1,100.00		11,000	flats	\$143,000
Fruits (Total)		15.0					\$213,000
GREENHOUSE VEGETABLES							
Tomatoes (Total)	*	6,800.0	7.00	Yield / sq. ft.	47,600	lbs.	\$64,260
Greenhouse Vegetables (Total)		6,800.0					\$64,260
HAY FOR SALE							
Grass (Total)	*	325.0	3.00		975	tons	\$90,090
Hay for Sale (Total)		325.0					\$90,090
Home Gardens (Total)	6,800						\$1,360,000
NURSERY CROPS							
Floraculture & Bedding	*					acre	\$250,000
Plants (Total)							
Woody Ornamentals (Total)	6					acre	\$40,000
Foliage Plants (Total)	*					acre	\$50,000
ASCENSION PARISH							

ASCEN	SI	\mathbf{ON}	$\mathbf{P}\mathbf{\Lambda}$	RISH
A 17 17 17 17		\mathbf{v}_{11}		\mathbf{I}

PLANT ENTERPRISES PRODUCTION

Сгор	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
	Troducers	Acies	Acie	rioduction	ivicasuie	
Nursery Crops (Total)						\$340,000
PECANS						*** ***
Improved (Total)	30	65.0	250.00	16,250		\$21,125
Native (Total)	50	150.0	390.00	58,500	lbs.	\$55,575
Pecans (Total)		215.0				\$76,700
Sod Production (Total)	*	220.0			acre	\$1,100,000
Soybeans (Total)	*	243.9	40.00	9,756	bu.	\$57,131
SUGARCANE						
Raw Sugar (Total)	17	13,714.0	6,800.00	93,255,200	lbs.	\$11,190,624
Molasses (Total)		13,714.0	204.00	2,797,656	gal.	\$559,531
Sugarcane (Total)		13,714.0				\$11,750,155
VEGETABLES						
Irish Potatoes						
Fresh	6	165.0	1.00	165	cwt.	\$5,775
Irish Potatoes (Total)		165.0				\$5,775
Lima Beans (Total)		4.5				
Mustard (Fresh) (Total)	10	6.0	26.00	156	doz. bunches	\$1,092
Okra (Fresh) (Total)	11	5.5	18.00	99	bu.	\$2,970
Peppers (Total)		4.5				ŕ
Snap Beans (Fresh) (Total)	10	5.0			bu. (30 lbs.)	
Squash (Fresh) (Total)		1.5			, ,	
Sweet Corn (Fresh) (Total)	6	12.0	550.00	6,600	doz. ears	\$23,100
Tomatoes (Field) (Total)	6	3.0	650.00	*	lugs (20 lbs.)	\$39,000
Vegetables (Total)		207.0		ŕ		\$71,937
TOTAL ALL PLANT ENTERP	RISES					\$16,086,867
		RIES & WILI	LIFE ENTERPRIS	SES PRODUCTION		
	Number of	_	Units of	Total	Units of	Gross Farm
Fisheries	Producers		Production	Production	Measure	Value

AQUACULTURE

AQUACULTURE					
Crawfish (Farm) (Total)	8	1,100 Acres in Prod.	189,000	lbs.	\$226,800
Aquaculture (Total)					\$226,800
FRESHWATER FISHERIES					
Crawfish (Wild) (Total)	28		7,155	lbs.	\$4,886
Freshwater Fisheries (Total)					\$4,886
Alligators (Wild) (Total)			1,350	ft.	\$33,750
HUNTING LEASES					
All Other Game (Total)	20	12,000 No. Acres		acre	\$84,000
		Leased			
Hunting Leases (Total)					\$84,000
Honey (Total)	7	55 No. Hives	5,000	lbs.	\$4,500
TOTAL ALL FISHERIES & WILD	LIFE ENTERPRISES				\$353,936

^{**} The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

	ANIM	IAL ENTERPRISES PRODUC	CTION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,300	head	\$646,237
500-600 lbs.			2,600	head	\$1,591,733
600-700 lbs.			900	head	\$618,638
Steer Calves (Total)					\$2,856,607
Heifer Calves					
300-400 lbs.			1,250	head	\$551,819
400-500 lbs.			1,550	head	\$808,751
500-600 lbs.			1,480	head	\$855,595
600-700 lbs.			380	head	\$253,126
Heifer Calves (Total)					\$2,469,291
Yearling Cattle					
600-700 lbs.			725	head	\$471,014
700-800 lbs.			500	head	\$356,063
Yearling Cattle (Total)					\$827,077

ASCENSION PARISH

ASCENSION PARISH

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Cow-Calf Pairs (Total)				550	pair	\$522,616
Cull Cows (Total)				1,100	head	\$416,075
Cull Bulls (Total)				65	head	\$54,961
Cattle & Calves (Total)	150	11,000	No. Cows			\$7,146,626
HORSES						
Brood Mares						
Race Horses	*	25	No. Brood Mares	18	head	\$144,000
Show Horses	110	300	No. Brood Mares	168	head	\$672,000
Recreation Horses	800	1,700	No. Brood Mares	1,100	head	\$1,650,000
Brood Mares (Total)						\$2,466,000
Stud Fees						
Race Horses		25	No. Stallions	18	mares bred	\$45,000
Show Horses		110	No. Stallions	250	mares bred	\$375,000
Recreation Horses		800	No. Stallions	1,500	mares bred	\$750,000
Stud Fees (Total)						\$1,170,000
Race Horses (Total)	*			15	head	\$180,000
Show Horses (Total)	110			250	head	\$1,250,000
Recreation Horses (Total)	800			1,500	head	\$2,250,000
Horses (Total)						\$7,316,000
POULTRY						
Edible Eggs (Total)	30	1,400	No. Hens	2,500	doz. eggs sold	\$1,785
Cull Hens (Total)				600	lbs.	\$36
Breeder Flocks (Total)	*	1,400	No. Birds	2,500	doz. hatching	\$4,625
					eggs sold	
Poultry (Total)						\$6,446
RABBITS						
Fryers (Total)	49	5,200	No. Animals	12,900	lbs.	\$10,320
Does (Total)	10	1,200	No. Animals	1,400	lbs.	\$210
Rabbits (Total)						\$10,530

SHEEP					
Wool (Total)		85 No. Sheared	875	cwt.	\$219
Slaughter Lambs (Total)			28	head	\$4,375
Feeder Lambs (Total)			30	head	\$2,250
Show Lambs (Total)			135	head	\$40,500
Stocker Sheep (Total)			20	head	\$1,500
Cull Sheep (Total)			15	head	\$750
Sheep (Total)	9	155 No.Breeding			\$49,594
		Ewes			
GOATS					
Show Goats (Total)			30	head	\$7,500
Slaughter Goats (Total)			20	head	\$2,500
Stocker Goats (Total)			5	head	\$475
Cull Goats (Total)			10	head	\$650
Goats (Total)	7	50 No. Does			\$11,125
SWINE					
Show Pigs (Total)			172	head	\$48,160
Feeder Pigs (Total)			600	head	\$18,000
Slaughter Hogs (Total)			325	head	\$39,073
Culls (Total)			30	head	\$4,800
Swine (Total)	10	1,000 No. Sows			\$110,033
TOTAL ALL ANIMAL ENTERPRISES	<u>S</u>				\$14,650,354

ASCENSION PARISH \$31,091,157 49